
Math201.05. Quiz #2. Term 1GL

Name:

tD #: Serial #:

1. [2.5 points] ldentify and sketch the graph of the equation zxz + y2 -
Zy - zz -- -1,.

2. 12.5 pointsl Find and sketch the domain of f (x,!) = JT + x +
Zln(y - x).

3. [2.5 points] Find the limit: . lim t-c-o-:(x-2+v2-) 
.

1x,yj--(o,01 sinz (2x2 +zyz1 '

4. 12.5 pointsl Let z = tqn-t (#) Find # simptify your answer.

Good luck,

lbrahim Al-Rasasi
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Math201.10. Quiz #2. Term 161

Name:

tD #: Serial #:

L. 12.5 pointsl ldentify and sketch the graph of the equation 22 : 2x2 +
y2-2y+2.

2. 12.5 pointsl Find and sketch the domain of f (x,!) = ,ti-?
y-x

3. [2.5 points] Find the limit: lim %
1x,y)-,(o,o) ya+zxz'

4. lz.spointsJ let z = tan-'(#). Find ffi.si^otify your answer.

Good luck,

lbrahim Al-Rasqsi
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